
All manufacturers' names, numbers, symbols and descriptions are used for reference purposes only.
It is not implied that any part listed is the product of these manufacturers. 1 of 11

www.AllTechPro.US 

Caterpillar ® "J " Series

Part No. Description Weight 
uni-tooth

adapter, flush bolt-on (replaces 1324720) 230 tip

Part No. Description Weight 
tooth, long utility 2.8

tooth, long 3.1
tooth, single tiger 2.9
tooth, twin tiger 2.9

tooth, flare 2.75
weld-on adapter, 1" 3.9

weld-on adapter, 3/4" 3.3
pin, J200 0.1

plastic jacket retainer, J200 0.1
J200 1" assembly, 1193204, 1U3202, 8E6208, 8E6209 7

Part No. Description Weight 
tooth, long 5

adapter, weld-on  1" 6
pin 0.2

plastic jacket retainer, J225, 250, J300 0.1

Part No. Description Weight 
tooth, long 6.8

tooth, symmetrical long 7
tooth, HD long 8.6

tooth, single tiger 7.3
tooth, twin tiger 7.9

tooth, flare 8
center adapter, bolt-on 19.8
corner adapter, bolt-on 22.4
corner adapter, bolt-on 22.4
adapter, corner - 2 bolt 28.9
adapter, corner - 2 bolt 28.9
adapter, weld-on  1.25" 9.5

pin, J250 0.2
plastic jacket retainer, J225, 250, J300 0.1

1U0257
3G4258
3G4259
6I9250

6Y3254
8E6258
8E6259

6I9251

8E6259

1U3252
1U3252SYL
9N4252
1U3252TL
1U3252WTL
3G8250

6Y3222
6Y3224
6Y3228

Uni-Tooth

J200 Series

J225 Series

J250 Series

1324720
190523

1959209
1U3202
1U3202TL
1U3202WTL
1U3202F
1193204
1193205
8E6208
8E6209
BK416

4
5.3

Think ATP for GET!    
470-268-8037 

ATP PRODUCT LIST #100-0220



All manufacturers' names, numbers, symbols and descriptions are used for reference purposes only.
It is not implied that any part listed is the product of these manufacturers. 2 of 11

Part No. Description Weight 
tooth, long 9.8

tooth, rock chisel 10
tooth, symmetrical long 11

tooth, single tiger 9.9
tooth, twin tiger 11.4
tooth, HD long 12.3

tooth, flare 12.1
center adapter, bolt-on 26.2
corner adapter, bolt-on 35.4
corner adapter, bolt-on 35.4
adapter, corner - 2 bolt 40
adapter, corner - 2 bolt 40
adapter, weld-on 1.25" 14.8

pin, J300 0.2
plastic jacket retainer, J225, 250, J300 0.1

J300 1.25" assembly, 3G6304, 1U3302, 9J2308, 8E6259 27.1

Part No. Description Weight 
tooth, long 12.8

tooth, rock chisel 16.9
tooth, single tiger 10.8
tooth, twin tiger 15.2
tooth, HD long 18

tooth, flare 18.3
center adapter, bolt-on 37.8
center adapter, bolt-on 43.3
corner adapter, bolt-on 53.9
corner adapter, bolt-on 53.9
adapter, corner - 2 bolt 54.3
adapter, corner - 2 bolt 54.3
adapter, weld-on 1.5" 20.6

pin, J350 0.5
plastic jacket retainer, J350 0.1

retainer 0.1
J350 1.5" assembly, 3G8354, 1U3352, 8E6358, 8E6359 32.4

Part No. Description Weight 
tooth, long 20.9

tooth, single tiger 20.5
tooth, twin tiger 23.8

pin, J400 0.8
plastic jacket retainer, J400 0.1

8E5359
3G8354
8E6358
8E6359
1U2405
BK225

7T3402
7T3402TL
7T3402WTL

1U3352TL
1U3352WTL
9N4352
8J3350
3G3357
3G7357
3G5358
3G5359
8E5358

3G4309
8E5308
8E5309
3G6304
9J2308

BK215
8E6259

1U3352
1U3352RC

1U3302
1U3302RC
1U3302SYL
1U3302TL
1U3302WTL
9N4302
4T1300
1U0307
3G4308

J400 Series

7T3408
8E8409

J300 Series
Caterpillar® "J" Series - Continued  ATP PRODUCT LIST #100-0220

J350 Series



All manufacturers' names, numbers, symbols and descriptions are used for reference purposes only.
It is not implied that any part listed is the product of these manufacturers. 3 of 11

Part No. Description  Weight 
tooth, long 26.4

tooth, rock chisel 30.6
tooth, single tiger 25.3
tooth, twin tiger 29.3

tooth, flare 37
adapter, weld-on 2" 45.7

pin, J460 1
plastic jacket retainer, J460 0.1

J460 2" assembly, 8E6464, 9W8452, 8E0468, 8E8469 71.1

Part No. Description  Weight 
tooth, long 40.3

tooth, rock chisel 52.8
tooth, single tiger 41.8
tooth, twin tiger 44.1

adapter, weld-on 2.5" 91.8
pin 1.4

plastic jacket retainer 0.2

Part No. Description  Weight 
tooth, long 65

tooth, rock chisel 64.9
adapter, weld-on 3" 107.4

pin 2.4
plastic jacket retainer 0.2

Caterpillar ® Compactor Parts

Part No. Description Weight 
foot, dirt weld-on 7.7
foot, rock weld-on 8.5

finger shank 22
foot, bolt-on 7.2

815 cleaner bar 17.5
Bolt, star head, 5/8" 0.2

5/8" Nut 0.1
Washer - thick - 5/8" 0.1

5/8" Nut 0.1

Part No. Description Weight 
foot, dirt weld-on 12.1

Caterpillar® - Continued                                                      ATP PRODUCT LIST #100-0220
J450 - J460 Series

J550 Series

J600 Series

815 Model

825 Model

9W8452
1U3452RC
1U3452TL
1U3452WTL
8J1450
8E6464
8E0468
8E8469
BK235

9W8552
1U3552RC
1U3552TL
1U3552WTL
3G9494
6Y8558
8E5559

6I6602 
6I6602RC
6I6604
6I6608
6I6609

4V3851
5V4311
8K9189
1062047
8K9163
7K3607
5S0581
7K3607

2V7053

2V6628



All manufacturers' names, numbers, symbols and descriptions are used for reference purposes only.
It is not implied that any part listed is the product of these manufacturers. 4 of 11

Caterpillar ® Ripper Parts
Part No. Description  Weight 

tooth, penetration 11.9
tooth, penetration 25.3

tooth, scarifier 3.4
tooth, scarifier heavy duty 3.8

scarifier shank 11.5
pin, R300 0.4

ripper shank 125
tooth, centerline 41

tooth 72.8
pin 1.9

retainer 0.3
pin 1.1

6Y1202
6Y3394

6Y0359
6Y5230
6Y5230HD
9F5124
9J6583
9J8923
9W2452
4T5502
6Y1204

Caterpillar® - Continued                                                      ATP PRODUCT LIST #100-0220

6Y0309



All manufacturers' names, numbers, symbols and descriptions are used for reference purposes only.
It is not implied that any part listed is the product of these manufacturers. 5 of 11

ESCO® Conical Style    

Part No. Description  Weight 
tooth 2.2

pin 0.1
lock 0.1

Part No. Description  Weight 
tooth 4.9
lock 0.1
pin 0.2

Part No. Description  Weight 
tooth 5.5

tooth, single tiger 6.7
lock 0.1
pin 0.2

Part No. Description  Weight 
tooth 8.8

pin 0.3
lock 0.1

Part No. Description  Weight 
tooth 12

pin 0.5
lock 0.1

ESCO® Super V Series 

Part No. Description  Weight 
tooth 2.4

flex pin 0.9

Part No. Description  Weight 
tooth, symmetrical long (use V23PN) 4.8

adapter, weld-on 1" 7.5
flex pin 0.1

Part No. Description  Weight 
tooth, symmetrical long 7.4

tooth, twin tiger 7.4
tooth, single tiger 6.2

flex pin 0.1
adapter, weld-on 1.25" 12.4

V23TVY
V23VY
V23PN
5849-V23

18TL
18PN
18LK

25S
25/30LK
25/30PN

30S

25 Series

30 Series

35 Series

40 Series

V17 Series

V19 Series

V23 Series

30VIP
25/30LK
25/30PN

35S
35PN
35/40LK

40S
40PN
35/40LK

V17TYL
V13-17PN

V19SYL
5854-V19
V23PN

V23SYL

ESCO®  Style                                                                             ATP PRODUCT LIST #100-0220

18 Series



All manufacturers' names, numbers, symbols and descriptions are used for reference purposes only.
It is not implied that any part listed is the product of these manufacturers. 6 of 11

Part No. Description  Weight 
tooth, single tiger 8.5
tooth, twin tiger 9.9

flex pin 0.3

Part No. Description  Weight 
tooth, symmetrical long 15.4

tooth, twin tiger 13.9
tooth, single tiger 11.9

flex pin 0.36
adapter, weld-on 1.5" 24.3

Part No. Description  Weight 
tooth, symmetrical long 22.4

tooth, single tiger 17.2
tooth, twin tiger 19.6

flex pin 0.5
adapter, weld-on 2" 32.3

Part No. Description  Weight 
tooth, symmetrical long 28.2

tooth, single tiger 23.9
tooth, twin tiger 28

flex pin 0.7
adapter, weld-on 2" 47.7

Part No. Description  Weight 
tooth, symmetrical long 33.9

tooth, single tiger 32
flex pin 0.9V51PN

V29VY
V29TVY
V29PN

V33SYL
V33TVY

V33 Series

V39 Series

V43 Series

V51 Series

V33VY
V33PN
5855-V33

V39SYL
V39VY
V39TVY
V39PN
5856-V39

V43SYL
V43VY
V43TVY
V43PN
5856-V43

V51SYL
V51VT

V29 Series
ESCO®  Style - Continued                                                     ATP PRODUCT LIST #100-0220



All manufacturers' names, numbers, symbols and descriptions are used for reference purposes only.
It is not implied that any part listed is the product of these manufacturers. 7 of 11

H&L® Style 

Part No. Description  Weight 
tooth 1.3

adapter flush mount with hole 1.2
pin 0.01

Part No. Description  Weight 
tooth, fabricated 2.2

tooth 2.8
star tooth 3

tiger long tooth 2.4
tiger heavy duty tooth 2.5
twin tiger long tooth 2.6

flare tooth 3.4
flex pin 0.1

flex pin, long 0.1
adapter, weld-on 3/4" 4.3

adapter, weld-on 1" 3
adapter flush mount weld-on 4

adapter, weld-on tooth bar 4.7
Flush mount assy - 2300FL adapter, 230SP, 23P 6.8
Tooth bar assy - TB100123 adapter, 230SP, 23P 7.2

Backhoe assy - 1" U43792, 230SP, 23P 6.2

Part No. Description  Weight 
fabricated tooth 3.5

tooth 4
flare tooth 5

adapter, weld-on 1" 5.5
flex pin 0.1

Part No. Description  Weight 
tooth 6.6

twin tiger long tooth 6.3
adapter, weld-on 1.25" (2740W25) 7.8

flex pin 0.14
flex pin, long 0.18

2500125
25P
TF25P

A162
U43792A

24HD
240
240F
240010
24P

250
250TW

23WTL
23W
23P 
TF23P
2740-MW-23
U43792 
2300FL
TB100123
A140

2ACAST
2AF-H
2AP

23HD
230SP
230ST
23TL
23THD

H&L® Style                                                                                ATP PRODUCT LIST #100-0220

2A Series

230 Series

240 Series

250 Series



All manufacturers' names, numbers, symbols and descriptions are used for reference purposes only.
It is not implied that any part listed is the product of these manufacturers. 8 of 11

Hensley® Style

Part No. Description  Weight 
tooth, short 1.7
tooth, long 1.9

tooth, heavy long 3.5
tooth, single tiger 2.2
tooth, twin tiger 3.5

tooth, flare 2.9
roll pin 0.05

roll pin, oversized .45" 0.05
adpater, weld-on 5/8" 3.4
adapter, weld-on 3/4" 4.6

adapter, weld-on 1" 4.6
backhoe assy - 1" 550X156, 156, 156P 6.6

Part No. Description  Weight 
tooth, long 7.3

roll pin 0.2

Part No. Description  Weight 
tooth, long 9.5
tooth, flare 9.6

tooth, single tiger 8.3
tooth, twin tiger 9.9

   steel keeper 0.3
flex pin 0.3

adapter, weld-on 1.25" 22.1
adapter, weld-on 1.5" 22.1

Part No. Description  Weight 
tooth, long 13.4
tooth, flare 18.9

tooth, single tiger 11.2
tooth, twin tiger 14.3

flex pin 0.4
steel keeper 0.4

adapter, weld-on 1.5" 33.4

Part No. Description  Weight 
tooth, long 17.6
steel keeper 1.2

Part No. Description  Weight 
tooth, long 18.8

adapter, weld-on 2" 46.2
flex pin 0.4

K370S

400
802X400
400PHD

158X290

330
330F
330T
330WT
330P
K330S
158X330

370

156
156L
156LP
156T
156WT
156F

Hensley® Style                                                                         ATP PRODUCT LIST #100-0220

156 Series

220 Series

290 Series

330 Series

370 Series

400 Series

156P
156POS2
230X156
552X156
550X156
550X156A

160P
220

290
290F
290T
290WT
K290S
290P
127X290



All manufacturers' names, numbers, symbols and descriptions are used for reference purposes only.
It is not implied that any part listed is the product of these manufacturers. 9 of 11

Hensley® Style

Part No. Description  Weight 
tooth, long 20.9

flex pin 0.9
steek keeper 1.2

Bobcat® Style
Part No. Description  Weight 

flush mount adapter, bolt-on 4.5
tooth 2

adapter, bolt-on 1/2" (156 series) 4.2
tooth, wide 6

tooth, single tiger 3.9
tooth, twin tiger 4.9

adapter, bolt-on 1/2" 3.9
flex pin 0.1

John Deere ® Style
Part No. Description  Weight 

tooth, long 6
pin 0.1

retainer 0.1
scarifier shank 15T114792

6808770
7102097
7107320
7107321
7107324
23P

T103189
T112195
T112196

410
410P
K410S

6737324
6737325

410 Series

Bucket Teeth - Continued                                                   ATP PRODUCT LIST #100-0220



All manufacturers' names, numbers, symbols and descriptions are used for reference purposes only.
It is not implied that any part listed is the product of these manufacturers. 10 of 11

Bucket Side Cutter 
Part No. Description  Weight 

side cutter, 4 hole - Cat® style 16.9
side cutter, 4 hole - Cat® style 16.9
side cutter, 3 hole - Cat® style 44.6
side cutter, 3 hole - Cat® style 44.6
side cutter, 4 hole - Cat® style 24.6
side cutter, 4 hole - Cat® style 24.6
side cutter, 4 hole - Cat® style 58
side cutter, 4 hole - Cat® style 58

side cutter, 3 hole - Esco® style 49
side cutter, 3 hole - Esco® style 49
side cutter, 6 hole - Esco® style 59
side cutter, 6 hole - Esco® style 59

side cutter, 4 hole - Hensley® style 54.5
side cutter, 4 hole - Hensley® style 54.5

side cutter, 3 hole - Skid steer bucket 8.4
side cutter, 3 hole - Skid steer bucket 8.4

Bucket Wear Shrouds
Part No. Description  Weight 

heel shroud - Cat® style 27
heel shroud - Cat® style 63.5
heel shroud - Cat® style 10.6

wear shroud, 3 hole - Esco® style 36.8
wear shroud, 3 hole - Esco® style 15.7

heel shroud - Esco® style 22.4

Hardware, Bolts & Nuts 
Part No. Description  Weight 

5/8" x 2-1/4" Plow Bolt  (625225) 0.21
5/8" x 2-1/2" Plow Bolt  (625250) 0.24

5/8" Plow Nut (PN625) 0.07
5/8" Segment Nut 0.1

5/8" Washer, thick 0.1
5/8" Bolt, star head 0.2

3/4" x 2-3/4" Plow Bolt (750225) 0.38
3/4" x 3" Plow Bolt (750300) 0.41

3/4" Plow Nut (PN750) 0.11
7/8" x 3" Plow Bolt (875300) 0.55

7/8" Plow Nut (PN875) 0.18
1" x 3" Plow Bolt (100300) 0.76
1" x 4" Plow Bolt (100400) 0.97

1" Plow Nut (PN100) 0.27
1" taper nut 0.3

1-1/4" x 4-1/8" Plow Bolt 1.7
1-1/4" x 5" Plow Bolt 1.9

1-1/4" Plow Nut 0.5
5P8361
3K9770

1J6772
2J3506
5J2049
2J3505
4F4042
8J2928
2J3507
8J2933
5P8823

PDE34687
ES6697-4

3F5108
4F3656
4K0367
7H3607
5S0581
8K9163
5J4771

7Y0203
7Y0204
7Y0357
7Y0358
0964747
0964748
1122487
1122488

Other Wear Parts + Hardware                                            ATP PRODUCT LIST #100-0220

CE17748-R3
CE17748-L3

T1156A
T1157A
B330RH
B331LH
106762
106763

138-6551
157-1027
280-4078
PDE31329



All manufacturers' names, numbers, symbols and descriptions are used for reference purposes only.
It is not implied that any part listed is the product of these manufacturers. 11 of 11

Hardware, Bolts & Nuts 
Part No. Description Weight 

1-1/4" Taper Nut 0.6
16mm Flat Head Screw 0.1

16mm Lock Nut 0.1

Additonal Parts and Services for Heavy Industry 

CONSTRUCTION 
MINING
RECYCLING
AGGREGATE
WEAR RESISTANT MATERIALS High Chrome / Ni-Hard / Manganese

Trackpads / Castings / Forged Parts / Bushings
Trackpads / Undercarriage

Shredder parts / Hammers / Grates
Crushers / Blowbars / Cones / Liners

We offer additional manufacturing capabilities in the following catagories

Phone: 470.268.8037 

5P8362
1592953
8T4778

Other Wear Parts + Hardware  ATP PRODUCT LIST #100-0220

 Charlotte, NC 28273

WWW.ALLTECHPRO.US 
1301 Westinghouse Blvd, Ste I


